BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HE 5 z 5
AGERT Hh I AREHET 1,129 1,466 1,443 2,909
RiEHhig K 798 874 893 1,767
2K BT 7 $h 32§ AHET 7 198 194 228 422
BT B Hhig ARETER 873 944 1,057 2,001
TR b i TR 1,060 1,237 1,395 2,632
=/ Eihig B/E 474 542 591 1,133
T BEEW 196 216 271 487
i 1w 105 146 155 301
iR ithig iR 267 308 358 666
s HAR W 96 99 139 238
AR XE 880 1,008 1,047 2,055
it 2 Ehis dzE 474 515 539 1,054
B M-Af 168 190 196 386
LA 7ot R 196 215 232 447
F& Hhig Be 2,874 3,427 3,855 7,282
HHE A Hhig HES 1,755 2,071 2,299 4,370
ERAE) &g AEN&—~mTH 783 951 1,048 1,999
PR &Rz &EE~ATH 1,476 2,265 2,296 4561
M B A Hhig MRS 2,290 3,337 3,395 6,732
HE3E A Hhig HmES 2,297 3,359 3,444 6,803
LA Hhig wIlUE 1,370 1,961 1,985 3,946
19,759 25,325 26,866 52,191

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X N 5 z i
" e i3 H 187 247 290 537
AR FafaH 413 551 601 1,152
Jb 3 Ehig ITEE 408 562 582 1,144
B E Hhig BETE 661 867 908 1,775
HEF 54 54 80 134
- LR 139 177 187 364
BRI B3 234 341 372 713
ek 46 44 71 115
a1&E 54 75 92 167
tRo& 136 153 203 356
IRt ERithis +Ia3%F 71 94 116 210
+IH4AE 53 67 75 142
+IH5%E 98 133 137 270
+tih6e&E 153 174 205 379
+R7%& 66 87 81 168
L inraEbitig +in8&E 93 121 116 237
+IHo%E 111 130 141 271
El10& 90 98 124 222
WERXsN 28 29 27 56
= e X 4% 6 5 5 10
R4 74 61 75 136
3,175 4,070 4,488 8,558

TERrk28FE10A X H
THH 5 5 X H

BAAERARD 28,678 35,958 38,587 74,545
SEAERAO 188 279 226 505
REZ/NImAD 28,866 36,237 38,813 75,050

B A R it#%- A OS5+ (1B NAET)

1T g £ AR X HEH 5 g 5

b b =] 247 300 318 618
BRI b N 125 156 176 332
=H 111 144 155 299
P ki 69 84 97 181
IR PR AL KE 216 259 255 514
EIEFE 20 27 27 54
FEFTHT 171 176 206 382
HTHET Hh iz h#TET 130 150 151 301
L FrET 130 168 150 318
FaET 180 219 253 472
FG T 16 24 29 53
fin B thig chET 36 32 40 72
BT 99 106 121 227
& 87 91 118 209
1] 142 147 183 330
" ERER—TH 51 52 70 122
BRI A1 ERER=TH 285 331 343 674
ERER=TH 54 7 83 154
Rill 60 55 67 122
Lz k 34 21 37 58
it 41 48 52 100
hnyse R B sk N E 59 58 63 121
INET 72 67 75 142
$£7 75 80 98 178
(LI 27 39 36 75
HERE 98 101 109 210
FeE) 5 115 138 152 290
AR 97 109 134 243
[ic] 46 49 55 104
R R Hh i ® 32 36 39 75
BEKE& 63 66 80 146
IhVEF 74 77 94 171
mp 39 46 53 99
B 36 40 46 86
=i 36 40 45 85
B/ 12 15 19 34
N 5 5 4 9
7/ 30 39 43 82
ETF 21 27 27 54
W ITFF 16 17 21 38
SR e 10 13 11 24
=P 9 7 9 16
i35 5 3 3 6
N 13 11 15 26
bus 33 42 50 92
AR 46 54 73 127
FINTE & i EIGA= 2,371 2,723 2,948 5,671
5,744 6,563 7,233 13,796

TRE28F 10 RIRTE

5% HIA R

X5 THHE H

BARAERAO 28,631 35,925 74,461

SNEAEFERAO 186 275 499

KENMmAA 28,817 36,200 74,960
(BEH) (BH)

X5 =K B X5 HHH B = A
Be—TH 795 868 1,861 WLE—TH 157 191 193 384
HEZTH 562 638 1,381 WUE=TH 0 0 0 0
HWE=TH 272 324 681 BILE=TH 0 0 0 0
HemTH 203 253 533 WILEMTE 0 0 0 0
HWERTH 753 988 2,071 WILERETHE 70 102 98 200
H&EATH 87 107 225 WILEARTHB 198 286 296 582
HetTH 202 249 530 WLEtETHE 431 641 641 1,282

HESE—TH 0 0 0 WILE/INTE 0 0 0 0
HEEZTH 248 329 658 BWILENTHE 10 10 14 24
HEEB=TH 8 9 18 BWLE+TE 233 344 352 696
HEBMTH 0 0 0 wea+—TH 218 318 329 647
HEBRTH 302 356 757 WueE+=TH 0 0 0 0
HEBNTHE 173 207 453 WLE+=TH 53 69 62 131
HESETHE 345 389 828 INEE 1,370 1,961 1,985 3,946
HEEB/N\THE 375 466 979 =11 12,845 17,371 18,322 35,693
HEBATH 304 315 677

KZINE—TH 340 408 848

KEZJINEZTH 99 122 250

KENE=ZTH 344 421 901

KZEINEWMTH 0 0 0

KEINERTH 241 398 785

RENEATE 544 776 1,559 (&FH)

KZINELTH 326 485 990 X5 HHH 5 = i

KZINE/NTH 365 606 1,227 mmEe—TH 164 193 211 404

KEINEATH 0 0 0 EmE&E=TH 140 147 168 315
MEE—TH 505 774 1,500 ENE&E=TH 143 147 175 322
MEEZ=ZTH 123 200 392 FENEEmTH 118 133 149 282
MWRE=TH 242 340 716 FENE&EETH 55 64 61 125
MWREMTH 259 349 720 EmnE&E/RTH 164 182 207 389
MEERTH 270 396 799 mAmEaetTHE 157 171 199 370
MEENRTH 371 527 1,061 EmE&s/\TH 186 210 236 446
MWEREETH 297 460 925 EmEaenTE 186 208 233 441
MEE/NTH 223 291 619 mnEs+TH 181 207 218 425
m\EE—TH 287 314 640 EmxEe+—TH 253 298 291 589
W\EE-TH 373 542 1,094 EmE&sE+=TH 216 269 271 540
BEB=TH 362 564 1,164 Emxe+=TH 150 177 188 365
wBEAEMTH 297 437 907 Emxae+mTE 120 143 173 316
W\EERTE 368 592 1,192 Emxe+ETH 138 174 168 342
HWEENTHE 329 587 1,145 =X 2,371 2,723 2,948 5,671
WEELTE 281 323 661
HwmEE/\TH 0 0 0

INET 11,475 15,410 31,747




